@ Bitspower®

Bitspower Water Block
Design For MSI X99S XPOWER AC

Installation Guide

TYRP MIX9S9

AN

i
[

/| \

[ PN \
Q= \
Na R /

S O

Uh
F AN [

0.5MM THERMAL PAD ——

(T4

0.5MM SPACER

M2.5x6MM SCREW ——

TYR MIX9S9

4PCS

0.5MM SPACER

(<)

M2.5x6MM SCREW 4PCS

i}

NOTE : 24 HOURS LEAKAGE TEST BEFORE USING



@ Bitspower®

Bitspower Water Block
Design For MSI X99S XPOWER AC

Installation Guide

&——— SCM3F

&——— SPRING

{©®

e = =2—— BITSPOWER CPU BLOCK SUMMIT EF

CPU BLOCK sUMMIT EF

© SCM3F 4PCS
8 SPRING 4PCS
@ SCM4M3 4PCS

X X
Please refer to the illustration lock nut to the position. NOTE : 24 HOURS LEAKAGE TEST BEFORE USING



@ Bitspower®

Bitspower Water Block
Design For MSI X99S XPOWER AC

ion Guide

Installat

X
o
)
e
o

i

=
e
9
(0}
[}

K=
=
a0

£

=
(=]
>
()
1
(=]
£
o
o
c

&
(0]

Q
Q.
(=]
&
[}

=
=
Q
[}
()

£

T
c
()
>

=

K=

2

=

ot
s
[
—
(%}
0

M4x24 MM SCREW

TYR MIX99 aRIMOR

TYR MIX9S9S aRImMmoRr

ﬁ M4x24 MM SCREW 2PCS

6PCS

FITTING

-
=
=)

NOTE : 24 HOURS LEAKAGE TEST BEFORE USING



Bitspower®
Bitspower Water Block

Design For MSI X99S XPOWER AC

Installation Guide

%%%GE

S

/

' X99 XPOWER AC

msi
@ @

Applying The Thermal PAD And Thermal Paste On Correct Positions.

[] Using Appropriate Amount Of Thermal Paste.
[] 0.5MM THERMAL PAD




